’ S T TR d g EEeEdBEuEN 1
p i L n TR, | -
-~ =

s

@ﬁ%ﬁﬁmm% 45 m%wqﬁgmmmyﬁﬁﬁmm% | gfgoTreft ITTIEA-HTE
(FPTE-RaTH) T ATHR TR ? )

(A) T . (B) Waed ﬂ ©) e, (D) aﬁﬁ?ﬁ 0

A cylinder-is intersected b}? a plane inclined it an angle of 45 degrccs to its axis. What is the shape of the

rcsultmg cross-section 7 -

(A) 24 929 & arabola ©&) (C) Hyperbola i (D) E_]li].'.p‘se

‘ aﬁcmaaaﬁ:,enau% EﬁDOGEmﬁﬁ@'? A ' i
If the code for CAT is DBU, what is :_11:3:915_51'5: for DOG ? i o NANE:
A) EOF B) DPFa EPH D)'EPF
(&) (B) 9@ © (D) i
g WA | -

TR AN ? . N " ' 3

(A) @ . ® * ©) afe o
Complete the analogy. -

"Glove: Hand::Sock:? =~ @ D, )

(A) Shoe ®) Foot - <]|' (€ Am = (D) Head
siafe-arh ; siafe T - rﬁm@"rt ’ @ _ "
(A) uRfRT © o (B) wg=R - O ~ (0 TETEW (D) &
Complete the analogy. s s
Astronaut : Spacecraft : Dwe; ? 05 e .:.5 "
(A) Bicycle (B) Submarine @) (C) Airplane’ (D) Car

Find the dissimilar numbers. .47 I o -" Ui.g
(A) °4,9 @ 8,27 (€) :1-4,81 - (D) 16,25

BT

n

—

;aﬁmmwﬁuﬁaﬁmgﬁm@%aﬁtm@@t&iﬂmmﬁtm%j
Tl (HH) i FHET 2, TN IROTHT STIRHE (HIG-HF) T AR ? B
() iR (B) e ew) - () g ©) e

If you have a regular icosahedron and__you@cc it along a plane that intersects six of its Taces, what is the
shape of the resulting cross-section ? g

(A) Rectangle (B) Hexagon ® (C) Trapezoide D) Pentagon’ i
Rt siaen & Ted Se i waE SR ' : _
Identlf)zthe incorrect number i in 1he followihg series. S a

) %Hﬂ @ 79 0@ Q) M oL

aﬁmﬁaﬂtmaﬂ%g@ﬁm%w mﬁmﬂﬂmﬁﬁﬁ?ﬁaﬁ%ﬁaﬁmmﬁmm
"tiiﬁﬁa 22 N
S @ ® =t ﬁﬂ. ©®W N o

Pointing towards Aneesh a woman sa1d “HIS mother is the onl-y daugi‘lter\ of my mother.” How is the
woman related to AnecSh ? : \‘, SN -“ e
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10.

11.

12.

GW. wg """"""""""" | °L6 N ﬁ;gga'.,F -------------------------------------------

Oj | 07'} } o8 o ¥

g

SREANT (1, 2, 3, 4) STT-IE Bel T & — éa hel, %%aﬂt@vglﬁmwﬁﬁ%ﬁagmasaﬁnﬂaﬁmé
aﬁﬁ%mﬁ%qﬁ;mmﬁﬁ%wﬁﬁﬁ@q@iﬁw‘mmﬁﬁﬁ%ﬂaﬁi%ag:marﬁs%wﬁ%ﬁm
@mw%l

(A) wéﬁrr,z—%ﬁ,s-@sg,mﬁa O ® 1 -89, 2%, 3T 4-

(©) 1-%a,2 -/, 3 -G, 4 - <] (D) 1—éﬂ,2—w,3-§sg,4-ﬁa ‘
Four people (1, 2, 3, 4) each pickadiffere}] 1t — apple, banana, cherry and date. The person wh'c;;picked

the apple is next to the person who picked flie banana and not next to the person who picked the date. The
person who picked the cherry is next to the rson who picked the date.

The correct combination is : _
(A) 1-Banana, 2 — Cherry, 3 —Date, 4 —ﬁ:ple (B) 1 - Apple, 2 —Banana, 3 — Date, 4 — Cherry
(C) 1-Banana,2- Apple, 3 -Date, 4~ @prry (D) 1- Cherry, 2~ Banana, 3 - Date, 4 — Apple

F1a ifTe for et ety (X) § fu e gohet & w-wft Tt s sEeRdt S |

Find out which of the figures can be formed from the pieces given in the first figure (X).

A

X)

NF N

@ [ ®

AA: 5 © X@ ®)

ammapfar 7 Prysti it den i i |
Find the number of triangles in the figure.

@EOROAD

&)

O

©F

e
(A), 16 (B) 12 % (C) 8 (D) 9
forww g | ® "
Choose the odd one out. ,
(4 EG (B) AZ (C) QR (D) KL
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2 Bt BN W NN '

‘ b
L b o
13, foe fm i srafud SRt (FE) S I H:
Find out the number of the cubes that an@rrangcd in the figure given :

O
<
Q
®

; o) .
A) 16 B) 24 ;3(9 17 D) 18
14, Frefiad i & S-a1 oiva/de wivemett, srareii SRHAT-Rar (57e) % ot wag $ autar? ?

Which of the following diagram/set indicates the relation between women, mothers and parents ?

15) wﬁwmqﬁﬁamﬁﬁmwﬁmaﬁmwwh
Find the mirror image of the figure, if the mirror ig{_&laced at XY.

"y % s
2

O i g
@ g}@: L
Qi =Toa
. %k

el T T ——

I
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LJ'I

@ @ ge=l @WABCDEWF&%%HT%HGPI%%I gafﬂﬂa;rﬁm%u’,ﬁﬁmﬁ
MM | CorTha A fafad | pgeFid) B, By wfa 2

J (a) T (B) s& () (D) at

; In a family of six members, A, B, C, D, E and F, lhégare two married couples. D is a teacher ‘and the

fagher of E. F is the grandmother of E and a housewl@c is a lawyer and married to A. B is not a male
‘ oW is B related to E ?

- (A) Father ; (B) Sister (CZ Aunt (D) Molhcr
@ 2 A T T WA T AT 78 R, A qelt e gt G R 7

If the sum of three consecutive even numbers is 78, what§is the second largest number ‘?
(A) 30 ' (B) 24

)28 6
18, ofEe A STk W A 2. ( ]-HJS C(g ‘0) i b@ CSG
\?{;%ﬁxt number in the serie S r 3 ﬂ |

(@ 1260 T B 2180 . (C)L 1820 (D) 2160

19. IS F AR, 3F 0, 1, 2, 3, 4 Y T A, B G,D, Eﬁ“ﬂﬂmm%l[(3+ﬁ)~(D+A)]W“ﬂm
Hisa | :
According to the code, digits 0, 1, 2, 3, 4 arereprescn@ by A, B, C, D, E respectively. Fmd the value of
[B+E)-(D+A)] ;
@A) -2 ®) 1 | (@3 @ 2

.4, 208 24 TEI91 94)

m@mmmﬁmwmwwmwwmmh%mm@m
Tfrefterar 2 €t 2, TET Wiy, e, ot aitt aei o ST ST & itk e fow B e s e} ) R
wraedl T 3 T R 3 w1 Pt wgsr 3w § w5 e &, fow & wrer F uge 0 { ofie g@ v et
wge 7 o1 W S BT AT o 2w & | gt At i snfones e 1w el w0 A e
2, Forerdy forgrrr gt g v =6 grer = o g | e < g At g Y ST S Sl &, T R gt St
%lwmﬂmmmmﬁmmﬁwm@tmﬁm%ﬁtm%mﬁﬁ
wmmmmﬁwﬁm%ﬁmﬁ%ﬁmﬁﬂmaﬁm%mﬁwét

20. ﬁmﬁmmﬁﬁ%&ﬂﬁm%? O
(s oo g o R (@)iﬂﬁﬁsﬁﬂn@‘iwﬁﬁfmm
T FYIAT T 3781 066 T fer-STT S QU TR ST6 hih
Ara faera =t gaffior 78t =1 s w8,
&) “itfere ufereT ol afaffa st man |
5) e 3 @ arE S v @
Sftert 7 reTeitar Trefterar o o E ger |
arfee, o, et i Hee S & Praifa )

22. Bz Y araarETe Y water 3 asft arva 2, 59 iy

R IR FITAR N TR 3T T, 3hT 4TS 7 A AT Y |
( mwmnﬁﬁﬁmﬁ@mﬁmml ( ﬂﬁmmwﬁrwmml
T E e A S S T Page§of2d = TR
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23, 3T T NI A9 Sfeed SR ke % wf SiehTe] &, iR : |
(A) € Hifim Mt a2 - /.&IT) T $47 3 e ST A 2 |
&% ST HTHGHTE G ST ST R | <7 o g forqr <t foreaiereh wiftwat § wanfia 2 |
@ Tty frrTera fre o s weergt 2 ) '
I~ (A) Sftaw = gairior faw )
PNt (C) e SiaR S |

% ®) e ot Ao R
~ g . ] :Fl:
.25, Freffea i & s v gfeim 2 g

(D) Sftae =1 wehit forenm |

S Wy v (B) & ©) . (Dy &
‘26, fAfeaddsmawedsmivgize .,
(A) T ® ¥ER O (C) © wE

@A) (-) ®) () O e ® (:-)
28. %qwﬁ*m’mmmﬁﬂw%sa@n%? £y
(A) T8 T TEA ADTE | O €B) T Tt R < AT L

©f srestRagenftaTsl o ST, g ST |
29, ‘m’%mé; O ? _ ‘ .
(A) S@H « (B) Tew = @ Rm @ e
30. IEEA 6 H GRS FT R 2 el . ;
) wEmamm (B) TdewwEAD  (C), fruw (?).w ;
31. ) AW AH T e F R 8- Vo B
(A) TS €A TIEAR BT . ®) WA :
(C) @& 1t anfinar femr (D) Ged FHSK I FHe
32, YW HBA-ATAHER? . 10 o7
(A T, . - (B)awa‘mﬂﬁra«‘(]-”.(f:)aga‘i%  ofg
3. ﬁnﬁf@aﬁﬂqﬁwmﬁmm?ﬂ?—m@%? Db
(A) q¥ (B) fm @ ©Ffwm - @ |
34. T wdam w5 i fra A gen ) ¢ | e
(A) TS AT FEl & o (B) wA PR i 5
(C) . AT9 J&T dt ST AT o (D) 3wt & R RyaET |
35. ‘Wﬁmmﬁ’?ﬁmmﬁﬂ&naj@mwﬂqﬁm%? oo
() diwa (B) e © W@ v (D) W
36. i sirer 3 R et orasY qrERT 3 o Rrsr 9 & 2 e
@ Woreda.. @) wewEm () fgd (D) VG S

37. ‘W -y wIeE-g T el A R RO .
(A) I et (B) gt—h_aarﬁr. L (O EpE-dEE (D) IEf-gEw
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8. "ﬂmmmfﬁmiﬂﬁﬁ?:
(A) FEEEE (B) e (C) o e (D) W
39,  FER W R A

() T (B) whm (c) Pz (D) fame
0. TF AN Fawie el o s g
et et ofrer ¥t et vt )
T o T R
(A) FAH (B) YWHww {qjﬂﬁm (D) T
1. Fr=fofis & & S v=mER T ¢ : _
(A) T (B) ST {@;m | (D) =
2. =99 = v A e St s s £ {
I (A)y SR (B) S (GY: TETT (D) e
43, ' i - v sl R SR e
() it g e p—"
(C)" & - e (D) == i
4. wTyduadltd i e insasats e
(A) HY=T FaE (B) '-Elﬁ"ﬁﬁhﬂ' {{E-L}'-Hﬂﬁﬁhﬁ (D) TemEladae -
5. TRTEmiT Ay SR el 3 e e
(A) HY=T (Bj H‘“@ '[Lg‘@ [~ - (D) F=E.
% FeRfmidaEsEe A
(4) mmIae AR | v & s At LT
(©) e & o o | ot e | IO
0. MR ety dr AefEm T o N
(A) 2 5w v & f wre (T AT =
(C) , ol i v A (D) effanT STt o =
48.  Frefeiea § § sige 7= w1 B ARl s o
(A) T+ (B) T+ g% (C) T+ () =+ T
4, zuwmmmﬂmmﬁrgrmﬁmmmﬂﬁmm@
() =i iy (B) - e fire (o] e i (D) FefFin s
S0, Frferfion # & F-an sm T vt = )
(A) =it (B) () wfivm (o) &
sL SR emnT e : Tl S = VG
(AY W (B) @ ' “%ET*- . D) =
52w Ve g B A e i =
(A) EEdTH, ST (B) ¥, m (C) =, e &) o, W

(%3 CamScanner
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83w v & few watward we sifau

(A) 7tz M) v . (C) e (D) mfdE
(&D ﬁaﬁ%ﬁﬁmmﬁmmﬂ%%ﬂ@:mwl
(A) A (B) gt 4 (©) il (D) I

ss. Faferfiaa el & wes e fava fae  fr 1o sl R me
V&7 - WTERT, WY, I3, fomeT ®

(A) 1, 3T, JTH, H1F O (B) TR, 31T, 31746, Fl
(C) 3T, %1, T, 7% T+ (DY ATHI, 3T, 3ATF, I

7@ A 1 99 i | ®

(A) @ =T W&t € 3 3, T e 7T 8| (B) THEWTHIET A AZ 209 | h y
(C) urea 3w @ ¥, frft a oA s fearsme ) (D) wersrefi g o et “ac-"ﬁrgéi\
afl ofiw 7 e oftm & v e e, 3 37 v e e e N\2G\y
(A Io-gd (B) IwABm () (C) 3ftqur-gfim (D) zf&or 0

If West is replaced by South-West, then Noﬂ will be replaced by :
:S MD\Jonh Eabt (B) North-West (C) South-West (D) SOLI! -
uﬁ‘:954 Qﬁﬁl(ZFlE%'@TGnﬂT% r 82143 @R forar sa 2 jD |

If954?4 is wnllcn as KGFIF, then how WI@Z]‘B be written ?
" (A)\JCDEF (B) DCF (D) JDCEF
£ Y
59. ﬁnaﬂawsrm?ﬁ%q | ’2,0'.\ ™

Find lm@ber in the followmg series.
144178220736
(A) 1782 (B) ©) 12 (D) 144\"),

60. wasﬁﬁwasﬂimrwaﬁ w @w%mﬁﬁmwélmmmaww

—

¥ (B) < © O, O T \ \ /ﬁ,
Introducing a boy, a girl said, “He is the @ of the daughter of the of my uncle.” How is t
related to the boy ? ® .

(A) Brother ®) Faber () () Mothgpl g (D) Sister \J\

61. #jmen ¥ el dEH g AR 6, 24, 120, ThY,

Find the next number in the series 6, 24, 1 ) 20,

(A) 5004 (B) 544 ‘ﬂ\ Yy Wl s040 (D) 5400
@mﬁmmm#ﬁqn,st,? g\

Find the next number in the series 11, 39775, 119,

A) 171 (B) 161 ©) 191 - (D) 181
)7 I i FRgeliorid T 7o omEsaERsaeayaans

(%3 CamScanner
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63. R e wrd s ey v 3 ot it (v € ) A0y e &, S een Pt i cfesepdy s s
afEisTe ¥ foru uas F0 A ASH T RIR |

T HTSHIY Tt 51 St HUE S T & T 4910 TS 3 FTo TRASHT &1 @ S o fore, Afrerad 20%
HHTT T TTEHTH SHd G, ATSTHI Toielt Bl et feberft TR T o ot Agfer & STt e 2 -
(A) T 5500 F (B) %5892 g (C) T5254FS . (D) T4845F1S &

The given pie chart illustrates the various g(_h)iﬁrces of funding (in ¥ crores) that the Public Works
Department (PWD) plans to collect for its Phase -I} Projects.

External Assist: nce
11486

Market Borrowing
29,952

To support the project with T 4910 crores thropgh toll collection by an outsourced agency, allowing for a

maximum 20% commission, what is the total @Ount that the outsourced agency should be permitted to
collect ? 2 '

(A) T 5500 crores (B) ¥ 5892 crores j(,.] (C) ¥ 5254 crores (D) 4845 crores
., IR 103 AR 6T | e o § 2

In a class, Sambu is ranked 10! from the top iﬂ? 36' from the bottom. How many students are there in

the class ?
(A) 47 (B) 45 (C) 44 (D) 43
GWZog4 =TT J( ‘ """"""" P Y Sk 0 i
4]

(%3 CamScanner
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65. K. LAwhRahy L Nagad) NKAIAR smafso MmAnld) oF K P Ha 22

(A) & (B ™ (C) wuf (D) firar
K is L's wife and M is L's sister. N is the daughter of K, while O is M's mother. What is the relation of O
toK?
(A) Father-in-law (B) Mother-in-law (C) Mother (D) Father
66. @ é siwen # & famy (@ner) 1 va Afeng
Find the odd one ouﬁm gm.n series : @
486, 482, 478, 474 Ao € y
(A) 466 (B) 478 e ]4?* (D) 474
67. UF 7w 50 frenfier ufa w2 A nfa @ woﬁ@tﬁaﬁa&ﬂumﬁlm@mﬁmwm
(A) 7% (B) 5w . (@) 6 52 (D) 4%
A bus travels a distance of 250 kilometers at a speed of 50 kilometers per hour. How much time will/it fake
to complete the journey ? H:
(A) 7 hours (B) 5 hours (% 6 hours (D) 4 hou(sj\__,.-/-‘
Fraferfiam s & e F-H R 2 © @
QATILSE) ber in the following sequence ?

0 o | Q@

(A) 1080 (B) 2160 ©) 0 (D) 360
afé INSECT ®t JQTFDU, HOUSEFLY %! IPVTFGMZ & &9 ¥ geaig o S 8, f BUTTERFLY &t
for warm e forma s 2 ()
© DD INSECT is coded as JOTFDU, HOUSEFLY as IPVTRGMZ, then BUTTERFLYwill be code t
(A) GMGUUCVF  (B) BVUUGMSG (C) CVUUSGMZF  ((D) _CVUUFSGMZ
70w XFEAE, NZHFIwAR AR P,z F RO AR AP, v Ffra it : q\{@
[,t{A) fagor.gd (B) Sue-afym (é SRror-afdm (D) I
) é O is in the East of X which is in the North of Z. If P is ‘it;lhe South of Z, then in which direction of Y is P ?
(A) South-East (B) North-West (CYk South-West (D) North-East
71. | U =4tk 3 U HI Y 25% W 0 S | I 9w g 35%{3@&@1‘1@@:3&? 732 9 ¥ S=arn, @ S
T ATV 1T | SIS o 30 Hed 1 0T 2 3 %é)
’L \ A person sold a horse at a gain of 25%. Had he bought it for 35% less and sold it fo\ T 232(|dss, he w
have made a profit of 36%. The cost price of the horse was :
F (A) 2,000 (B) 2,500 (C) 1,800 ' (D) %1,500
‘j >< 72 zﬂ% EXAMINATION %I VCZNRMZGRLM & &4 ﬁw o ST ®, A WR]TTEN 1 ol SR e
)
INATION is coded as VCZNRMZGRLM, thenlhow will WRITTEN be coded ? <

IRGGVM IDGRGMV (@) DIUGGMV (D) DIPGGMN 73 @
73 A. B 31 C &1 3ftad asH,600 fhemm 2 | afe A 3tk Bt sitwa asm 30 fraimm™ € @1 B 3R C 1 3ieq

a5 70 forciom 2, @ B &1 aoH FT R ? ’ O)
(A) 18 farcium (B) 17 foetumm (Gpy, 20 forettom (D) 21 forettom
& The average weight of A, B and C is 60 kg. If the aveiage weight of A and B is 30 kg and that of B and
C is 70 kg, then what is the weight of B ? &) :
W s ® 1 ) 0k ©) 21k
GWzazd T e e G 2

(%3 CamScanner
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65. K. LA usfidaing, L Nawad) N, l\a‘;ﬁak srafk Q, M A IR | O T K G 71 et € 2

(A) W (B w™ (C) =i (D) fir
K is L's wife and M is L's sister. N is the daughter of K, while O is M’s mother. What is the relation of O
toK?
(A) Father-in-law (B) Mother-in-law (C) Mother (D) Father
66. @ 7 sjmen # & fawm (Ane) i v Aifsg
Find the odd one ouﬂmt given series : ®
486, 482, 478, 474, 47 @ é‘ p
(A) 466 (B) 478 ((:’}]4?2 (D) 474
67. uF aW 50 Frcinfier wfi i 9 nfa & 250 Pz it gt da Felt & | a0 Ot 5t i o w2
(A) 7 (B) 5% , (G‘gi ) 6 512 (D) 4%
A bus travels a distance of 250 kilometers at a speed ofLSP kilometers per hour. How much time willAt fake
to complete the journey H
(M 7 hours (B) 5 hours (% 6 hours (D) 4 houM____...-——'ﬁ
qefen A2 Q) @
ber in the followmg sequence ? N e
f?"ﬁé’m * qr
(A) 1080 (B) 2160 (€) 0 (D) 360
I INSECT #I JQTFDU, HOUSEFLY & IPVTFGMZ & &9 & Feag frar m &, @ BUTTERFLY &
fore yahm Fpearg forma s 2 (B

© PLDIINSECT is coded as JOTFDU, HOUSEFLY as IPVTFGMZ, then BUTTE e codedas.:
(A) GMGUUCVF  (B) BVUUGMSG CVUUSGMZF (D) _CVUUFSGMZ
X FEAR, zHImAR AR P, z%aﬁﬁmﬁ% P, Y& frafamdz e

L{(A) aféorgd (B) Sue-ufim (é gfequr-ufim (Dy I
(l) éo is in the East of X which is in the North of Z. If P is m-lhc South of Z, then in which dlrectlon of YisP?
(A) South-East (B) North-West (CYE South-West (D) North-East
71. | T S A U HIS Hl 25% @ T o= | AfE I8 3@ 3500%'1&@1?&:?11 3R 8 T 732 9 & Siwrn, @ 39
KT TS YT | SIS T 76 e T 9T 2 62 E )
fL \ A person sold a horse at a gain of 25%. Had he bought it for 35% less and sold it fo % ss, he
have made a profit of 36%. The cost price of the horse was :
(A) %2,000 (B) %2,500 (C) %1,800 ' (D) 21,500
72. df¢ EXAMINATION %I VCZNRMZGRLM & &4 H T fobam ST &, ol WRJTTEN i o SR heeig
2 ? P @

INATION is coded as VCZNRMZGRLM, theénlhow will WRITTEN be coded ? P

IRGGVM IDGRGMV (@) ) DIUGGMV (D) DIPGGMN T} @
A, B it C &1 3itaa av,60 et & | afe A 3t B st avm 30 freiiom & @en B 3R C &1 affea
o 70 feretramg 2, d B 1 a5 418 2 ’ )

(A) 18 foremm (B) 17 fereimy (G- 20 Fereitmm (D) 21 feremm

The average weight of A, B and C is 60 kg. If the avgiage weight of A and B is 30 kg and that of B and

73.

C is 70 kg, then what is the weight of B ? @) )
A 18kg B) 17kg . (©) 20kg (D) 21kg
Gw.z24 T Page100f24 T TTTTTTTTYTYYY
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.

75.

76

77.

78.

9.

\)-“'0”07 / 4 / Qs 1S |

40 BT 7 TF FE1 A, 15 37 Fhe Qe # i 15 O 2w Qe £, o S o6 A de e ¥ | A A
=13 Wt O 7 G e ot A e

In a class of 40 students, 15 students play cricket and 15 sfudents play tennis, and 5 students play both the
games. Then the number of students who play neither of%: two games is :

(A} 10 (B) 15 (C)~35 (D) 25

0.05, 0.5, 0.25, 1.25 1 HgwH GHIY<% (HCF) mﬂ%«%?
Find the HCF of 0.05, 0.5, 0.25, 1.25. s

(A) 05 (B) 0.05 (c)i%,zs (D) 1.25

Tl B WeAT 1 i 8 4, 6, 7, 8 3tk 9 & fefora et ot weder farfor 3 Twwhet 3 ST @
Find the smallest wkgﬁ which when divided by 4, 6, 78 and 9 leaves the remainder 3 in each case.
(A) 504 (B) 507 (C) 510 (Dy 501

e 30 STl h AT e 40 TaE 3 5 Yo oh qUe R, At wif gfowra # e 2
If the cost price of 30 tables is equal to the selling price of 40 tables, then what is the loss percentage ?
(A) 30% (B) 26% (€Y 37.5% (D) 25%

T et el 70 wat T 0% 4170 SRR SRR 105 5 TR A e | T TE R A
FIT20H 9FI Y Sar 2 | Iueh! T a1 e Wi 4t £)?

5
(A) mﬁml-‘g—?% (B)E:} mlg%

(€) wf ufaw 12% (DyHa T @™

A fruit seller buys some oranges at the rate of 4 for T lignd an equal number more at 5 for ¥ 10. Then he
sells the whole lot at the rate of 9 for % 20, What is his 10ss or gain percentage ? _ '

i 1
(A) Gain percent IS_E: % (B) Loss percent l;—gli %

(C) Loss percent 12% (D) No loss or no gain

W Yot 3w frfda @ 150 fAt § o e % 0200 st 1 e fom | afe 50 ot o et
Teh-STS W o T, 1 QW R WO o o, e foee s ey arfafte arfient Y v s
29 O

Indian Railways employed 200 workers to complete a ¢effain work in 150 days. If only one-fourth of the

work had been done in 50 days, then to complete the wholf: work in time, what is the number of additional
workers to be employed ? h

(A) 600 (B) 100 (C)ifgoo (D) 300

12 959 3 18 Afgamd us Hm 1 10 f # 0 wend € | Qe o 18 Afeend &t wm #i 12 R § w0 aw
& 1 3f 2 gew 3 3 wfeed G are 3w e w8, W e o g e § 2

(A) 70fH (B) 80fe (C) 60 (D) 50

12 men and 18 women can do a work in 10 days. 9 men and 18 women can do the same work in 12 days.
If 2 men and 3 women together do the same work, in how many days will they complete the work ?

(A) 70 days (B) 80 days (C) 60 days (D) 50 days

e R R e
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. P e G hdu A nSEwdmiss it iR I
T b e s g A R S EEEEIT RS N FE TR SR T S
=t 7= 5
(A) 1208 By 1T0= O 13 (D) 1245
Two tramns travel m the same direction 22 59 m br and 32 kb and the faster train passes 2 mao = e
slower tram m 16 seconds. Find the kengzh of the faster train. et
(A) 120m B) 1= © 1B < O M=

0 ofmFE PRIt TRl W s loasei RS TSR w
(A) S8&FZ (B) 67 55= O asw= C (D) 3585
A 67 meters long tramn crosses 2 tunnel of length 33 meters in 10 ss¥dods. Find the time for the tram »
cross a man standing oa a platform of length 65 meters. ol
(A) £ .8 seconds (B) 6.7 seconds (O) 45 secondsZ (D) 5.5 seconds

8. AFrFTmE ARz IE S HmEti R ATiEthmms RS
FER F 97a9 7 394 79 g
Two types of nice rates are T 11 kg and T 21 kg Find the ratio of the two types of rice to obtain a mixnure
of rate T 17 kg -

(A) 1:1 (B) 3:1 O 2 ~ (D)2

84. 125%FATETE TN 5 ST I TR A TG 7 S
(A) 87§ (B) 124 (© 10=d ;; (D) 2059
In how much time will an amount be doubled at the rate 0 12.5% 2 ==
(A) 8years (B) 12years (C) 10 years \ (D) 20 years

8s. ﬁﬁiﬁaﬁtf@?ﬁrmkl%ﬂiﬂﬁﬁ%léiﬁ%aﬁqﬁﬁﬁéﬁﬁ%4:l%ﬁgqlnﬁﬂqnﬁaﬁl'&'ﬁ
fafiger 3l 0 31 51 3 R A1 =90 < 10,000 3, §1 ¥ 1 A[g 3719 31 Hg |
Nikhil and Reetu eam in the ratio 2 : 1. They spend in the ratio 5 : 3 and save in the ratio 4 : 1. Find the
monthly income of each, if the total monthly savings of both Nikhil and Reetu together is T 10,000.

(A) T10,000,T5,000 (B) T28,000,T14000 (C) T8,000,T4.000 (D) T2,000,% 1,000

86. U W § UF B S Sifuwmad 3% F 20% WK @l &, I€ 5 FF FIA0 & SR | O 3 O
Siftram ST 1 30% TR A 2, T2 T S & 20 37 AF T B | T A ¥ Rrg S
gfasid FT e 2 <
In an examination, a student who gets 20% of the maxmlummarksfaﬂ? by 5 marks. Another student who
scores 30% of the maximum marks, gets 20marksmorelhanthﬁp35@mmarks The percentage required
for passing is :

(A) 27% (B) 42% (C) 20% % (D) 22%

87. Tad F ufd o wea i 25% 1 afg & vRomraEy, o =i T 1,200 §8 fFm w0 wme g g 2 | 96w
1 wfa foran wrifv qeg w@r ar ? G)
As a result of 25% hike in the price of rice per kg, a person is unable to purchase 6 kg more rice for
% 1,200. What was the original price of rice per kg ?
(A) T40 (B) T30 (C) T60 (D) TS50
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88. @k Rt srafin w2 ad & Ry 5% Y &t & wmmor s T 1,600 ¥ | 3 At ¥ A7 G A W THTe FTe
(@fi w7 & @i =) 30 £ |
The simple interest on a certain sum of money for two years at 5% is  1,600. Find the compound interest
at the same rate after 3 years, interest compounded annually.
(A) T2,522 (B) 2,520 (C) 2,355 (D) %2,555
89. T 475 3ifeha 3 15% P2 TR A o A W R g R 2
What is the discount on a pair of shoes marked at € 475 and discounted at 15% ?
(A) T72 B) T70 < (© %7525 (D) £71.25
90. T THITAT UF T o ifeha e T 10% A P 31 2 AfFT 2 et e 0T 8% 1 fopsht o wmman ) af
e forshl 3t afedt o 3 w0 3 € 34,020 %1 ST 0 2, 7 3 ged e R 2
A shopkeeper allows a discount of 10% on thu\"njarkcd price of an item but charges a sales tax of 8% on
the discounted price. If the customer pays % 34,020 as the price including the sales tax, then what is the
marked price ? o
(A) ¥35,000 (B) %34,000 ®) (C) 38,000 (D) ¥39,000
91. 3l x3i % (x#0) T e m }, 2 ke L 1 afta 2
X
If the average of x and % (x #0) is m, then the average of x and —% is :
X
(A) 1-2m (B) 1-3m? O (C) 2m?+1 (D) 2m?-1
92. T2 9 SHHTTA TW HEATSA 1 3itad 132 8, A Tecll I T Teameii 1 37 71 Hif |
If the average of 9 consecutive even numbers 1§ 132, find the difference between the first and the last
numbers. () |
(A) 15 (B) 19 ® (©) 18 ' (D) 16
93.  12-02-2022 % 11-02-2023 T 15% ey o o1 T&RT 73,000 T AT =T 2 :
The simple interest on T 73,000 at the rate of I%per annum from 12-02-2022 to 11-02-2023 is :
(A) T10,950 (B) %12,050 @ (C) T14,750 (D) T 13,450
94, MR T Y&IT 8TS €T el T yd 41 ?
(A) eIl (HISAHIAT) (B) focsht
() () (D) W& (I7)
Where was India’s first airport located ?
(A) Calcutta (Kolkata) () (B) Delhi
(C) Bombay (Mumbai) (D) Madras (Chennai)
95. v it rErar ¥ fir, damedt i, GSTtiwﬁw%:‘) Srvites fRafire (dimm) T 2
(A) T10TE (B) T5T 5 (© TsoTmE (D) T20Wm@
What is the threshold limit for GST registrationiQJr businesses in India, for services ?
(A) %10 lakhs (B) %5 lakhs ‘T-i;' (C) T 50 lakhs (D) T20 lakhs
96. forg e faaw Fa v ST R 2 o
(A) 9 AN (B) 10 s (3) (C) 15 g (D) 3 3
When is World Post Day celebrated ? ¥
(A) 9" October __ (B) 10"October _(C) 15" October (D) 3"October
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97. S 2024 TF W TR AT F A A 27
(A) fim we B) Pz (C) T4 fiie (D) Fizurdt
Who heads the Union Ministry of Home Affairs as of June 2024 ?
(A) Amit Shah (B) Nityanand Rai (C) Rajnath Singh (D) Narendra Modi
98,  sfeaa Fvme wiw i v e A 7 oy
The Indian National Congress was fou d n which year ?
(A» 1885 (B) 1857 (C) 1947 (D) 1905
99, mﬁmﬁmmmﬁﬁaﬂ%‘qmﬂm??
(A) TEETE amaA FAITA FTATR |
(B) 7€ a1t #t swifad @ail 71 wfF 741 & w2 & demA FAaT 2 |
(C) TE mmwmmﬂmm
(D) T® mmmqumnﬁwgrmm Ao warEl 2 4 gufaq 744 § ggaar Far 2 |
In what ways does information sharing become important in fighting terrorism ?
(A) It strengthens the military’s capabilities.
(B) It allows authorities to identify potential threats more quickly.
(C) It improves relations with other countries.
(D) It allows terrorist organizations to coordinate attacks more effectively through security agencies.
100. A F o wgrd 2 F1 “az PR A gt E I F I T S 2
(A) AR (B) 9= p (C) 9zH (D) =mE
Which of India’s neighbouring country is knpwn as the “Land of Thunder Dragon” ?
(A) Bangladesh (B) Nepal @y (C) Bhutan (D) Myanmar
101. Frefefea § & 781w iz =zai Ty e 2
(A) %EgF (B) = 4 (C) T (D) =™
Which of the following is not a Social Meg@4 Platform ?
(A) Facebook (B) Twitter (g (C) Google (D) Instagram
102. ﬁaﬁamcgrmmaﬂzﬁmmmrr ¥ &1 AT A1 F1 IHFG T4 3T ATF F
amﬁamnmmmﬁqurm%l
(A) fafsm (B) VPN (C) F=EfEm (D) z= ffamm
uses images with malicious files in them, meant to help a hacker steal your account information
or infect your computer. O
(A) Smishing (B) VPN d (C) Catfishing (D) Image phishing
103. SHICRE TR 1 TS =T 2 2 O '
(A) wREEw (B) FFiE p (C) ZFmEf= (D) afFa fad
What is the capital of Republic of Croatia ‘7‘) :
(A) Amsterdam (B) Zagreb O (C) Dubrovnik (D) Mexico City
104, ST I W & fohw foret & oiania wmar 2 f‘g
(A MAH-FE TR ® (B) mfzamER
(C) =qu (D) qeA=aTET
NOIDA comes under which district of Uttar Pradesh ?
(A) Gautam-Buddha Nagar (B) Ghaziabad
(C)_ Mathura - D) Bulmisinba
T e I | R S
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97.

98.

100.

101.

102.

S 2024 T H TR WA HT IE DA 2

(A) ifa wE B) firz (C) Ty fiig (D) iz

Who heads the Union Ministry of Home Affairs as of June 2024 ?

(A) Amit Shah (B) Nityanand Rai (C) Rajnath Singh (D) Narendra Modi
$feam Fvme Filw f we fRe ad 4 g8 oy

The Indian National Congress was foundcdjn which year ?

(Ay 1885 (B) 1857 (C) 1947 (D) 1905

Wﬁaﬁﬁwmmﬁﬂaﬂ%EWﬁW% ?

(A) T§ 8 eTSH i TG AT 8 |

(B) e T A T e uﬁ%ﬁwﬁﬁqﬁﬂiﬁmm%n

(C) T8 311 211 % WY e} & GuT L,

(D) T8 SATdHAT FISAT hl GUeT TR gy et bt Afereh et & & Foi-ad F & werdal hidl € |
In what ways does information sharing become important in fighting terrorism ?

(A) It strengthens the military’s capabilities.

(B) It allows authorities to identify potential threats more quickly.

(C) Itimproves relations with other countries.

(D) It allows terrorist organizations to coordinate attacks more effectively through security agencies.

it s P e 3 od 2 o e o T 2 2

(A) aiey (B) ATt \] (C) A (D) =ER
Which of India’s neighbouring country is [&ipwn as the “Land of Thunder Dragon™ ?

(A) Bangladesh (B) Nepal @ (C) Bhutan (D) Myanmar
freafefiaa & & HH-a1 e i Srenr 7eT 8 2

(A) SETH (B) x4 () T™ (D) =™
Which of the following is not a Socnai Medi4 Platform ?

(A) Facebook (B) Twitter ! @) (C) Google (D) Instagram

# gufaarqel wrget arcft ofert #5137, [ F 9E @A A TEHR T AT ATEH FER H
Hehiid & § Heq A o fore feram smar 2 |
(A) Tfym (B) VPN (C) “efwfym (D) 30 ff¥iT

uses images with malicious files in them, meant to help a hacker steal your account information
or infect your computer. )

(A) Smishing (B) VPN <] (C) Catfishing (D) Image phishing
103. ST TRSE i TeuE R R 2 O '

(A) THZEH (B) S P (C) gl (D) Afergenr firdt

What is the capital of Republic of Croatia ’{:,) .

(A) Amsterdam (B) Zagreb ‘ (C) Dubrovnik (D) Mexico City
104, ﬁ@wm%mﬁé%wﬁm%{ﬁ

(A ARG TR ® (B) mframEme

(C) wmygu (D) eT<3met

NOIDA comes under which district of Uttar Pradesh ?

(A) Gautam-Buddha Nagar (B) Ghaziabad
_____ E(_:}__l_\q%t_h_u_r?__u____________“__________-____(_ll_)) Bulandshahar
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105,

106.

107.

108.

109.

forefa s 9 (FsB) Fn A R 0

(A) e foelta feeren gffem s )

(B) e g v Fetr St 3 g e 2t o Freifr e
(C) o' 31T e <x o Forewft Wz vigm a1 waiv et R |
(D) I% Rysrashia 2ot N g wema v w@r 21

What does the Financial Stability Board (FSB) do ?

(A) Tt ensures financial stability, )

(B) It regulates interest rates for central banks wotldwide.

(C) It manages the foreign exchange reserves of i(s member countries.
(D) It provides financial support to developing cotntries.

W%mmﬁ:mﬁﬁqgmwm? t:}

(A)  Ffam == (B) WEEER - (C) fremad (D) it argantor
Who was chosen as the brand ambassador of GS'I‘J#

(A) Amitabh Bachchan (B) Shah Rukh Kh:qlr 3) (C) Shilpa Shetty (D) Deepika Padukone
mmﬁ%m%%qaﬁq-maﬁmm%:?"

(A) RfEm (B) Faq (C) M (D) faferhm

Which element is essential for the production of nuclear energy ?

(A) Uranium (B) Carbon (C) Hydrogen (D) Silicon

% TRt e far ol 2 O

(A) e g <) af¥ime s

(C) & Fafaa O (D) WTeh T

Who wrote “The Scarlet Letter” ? v

(A) Nathaniel Hawthorne "~ (B) Washington Irving

(C) Herman Melville o)y Mark Twain

el s e e e e o e e T e e s g 82
(A) HEgH (B) T ©)(©) FETm (D) Fwe

Which social media platform has a feature called “Streaks” to encourage frequent communication between
users ?

(A) Facebook (B) Twitter (C) Instagram (D) Snapchat
110. ToAd TSTEST it Torert Far feor oft 2

(A) W (B) e O© ¥ (D) T

The capital of the Pallava dynasty was located at b

(A) Madurai (B) Kanchipuram _(C) Mysore (D) Thanjavur
111. Fr=fefas § & HiF-Ht @ wie 3 %aﬁaﬁgj‘m 77

(A) TR {i}(B) femshie wme

(C) 49 Feetar ameA () -8y T

Which among the following lines is a boundary bg%feen France and Germany ?

(A) Senger Line @) (B) Siegfried Line
(€ 49"panallelLine 7 D) K-WLine o eeeecmemceaaaaas
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12, fw =mm wefRemas (DGFT) fr tiarer & ofaia amar @ 2

113,

114,

115.

116.

117.

(A) aforss vd Jam gare

(B) fam darem

(C) faam wiarem

(D) qe, 77 3 A W A

The Directorate General of Foreign Trade (DG F’]{)j’;qmes under which Ministry ?

(A) Ministry of Commerce and Industry 3

(B) Ministry of Finance ‘\J

(C) Ministry of External Affairs ()

(D) Ministry of Mirco, Small & Medium Enter&rj?es

Tt T SV w3 i i srandt fet @t ¥ for e 2 & fads ST HRaTS 6
LILER o

(A) wifEem (B) SWMAIH o (C) Fiemadr (D) WMWK

The Indian Agricultural Research Institute has dq@l}?nded legal action against which country for cultivating
basmati varieties protected in India ? .

(A) Pakistan (B) Afghanistan (C) Bangladesh (D) Myanmar
- YT T 3t} 3t “arett” {3 forg S s 2 2 -
(A) 3nfem (B) T WM (Q TseH (D) HERT
Which Indian state is known for its unique ‘Warl{’ paintings ?

(A) Odisha (B) Madhya Pradesh ‘,\] (C) Rajasthan (D) Maharashtra
HETATR AT &1 T RO AR ? -

(A) WS & qHH § 3 (::.j (B) Ncafers woelt uaheT

©) Y fEa ' (f‘?)(m) )T ERT CO, 1 ST
What is the primary cause of ocean acidification A-

(A) Increase in sea-water temperature “ﬁ: (B) Overfishing

(C) Oil spills Ca) (D) Absorption of CO, by sea-water
el U aTtaft s Vit & foraeht Sefer S e o form wret A g€ oft 2

(A) SRt (B) WATTUS (C) et (D) TETH
“Chikankari~ is a traditional embroidery style that originated in which city of Uttar Pradesh ?
(A) Varanasi (B) Prayagraj (C) Noida (D) Lucknow
ST F AT 1 e H )

(A) a7 3 700 A T 3 ST <]

(B) fct sy ot 3ufeufa O

(C) v Yehrel 1 ot (P ®)

(D) al@%a@muﬁ%mwm(ﬁg@

The main reason for the blueness of the sky is oy .
(A) the absorption of blue light due to the air %

(B) the presence of water vapour ®

(C) the scattering of white light '

(D) the scattering of sunlight by air molecul_e's
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118.

119.

120.

121.

122.

123.

124.

R R R R R R R—

T o T, ot wre o em @, e @a AR 99

(A) Eh (By Wesiiet (C) 2= 2w (D) fire
Raman Subba Row, who passed away recently, "Cms associated with which sport ?

(A) Hockey (B) Football (C) Table Tennis (D) Cricket
Frerferfa & & o s =t sgwor wed (aﬁa)zg’fﬁmﬁ% ?

(A) TR wEEm (B) wﬁw () v wgEm (D) 7T guw

Which of the followmg types of polluuon is cult@ml (acccleratcd) eutrophication ?
(A) Thermal pollution (B) Noise pollution ( 1 (C) Water pollution (D) Soil pollution

W ST 31 -1 90T T % Ay fRyres Rigial @ gefoa 2 2

(A) WTTIII (B) w11 ol (C) WV (D) WRTIV
Which part of the Indian Constitution deals with(He Directive Principles of State Policy ?
(A) PartIII (B) Partll (C) PartV (D) PartIV
T U Isw frawie foraen g forelt 1 oft 9
(A) AfrefeRor (B) weredlt =i
(C) iewia frardt Frre , (Dy SETEES e
The book ‘A Life Misspent’ was written by whoin'?
(A) Maithilisharan Gupt <] (B) Mahadevi Verma
(©) Suryakant Tripathi ‘Nirala’ O (D) Jawaharlal Nehru
1946 3 fermsfeor 3 <o RBI F A . ©
(A) . gewe ) (B) famwr TS 3
(C) ifcheria T H: (D) NARE
Who was the Governor of RBI during the demofiétization in 1946 ?
(A) D. Subbarao ®) (B) Chintaman Dwarakanath Deshmukh
(C) Shaktikanta Das . (D) Urjit Patel
UEel! IR U i fife e o & g oft 2
(A) H 2002 (By TS 2000 (C) Satt 2004 (D) w2004
When was the first ever National Agriculture PoEc:;z announced ?
(A) March 2002 (B) July 2000 <f (C) January 2004 (D) March 2004
BRI &1 Q0 €T HRIT2 ? O
(A) e U frafeersh $ewit & (BY siee U frard sffimafea
(C) few e T shfimfea O (D) 9% ¥ s ifmfea
What is the full form of BRI ?
(A) Belt and Republic Industry z;’r (B) Belt and Resource Initiative
(C) Basic and Road Initiative @j (D) Belt and Road Initiative
fafire saferal 1 38 da ) e 1 @t grer i Hw e & fek oy smEd |
(A) it (B) W= Wi (C) fomae iy (D) ft

tries to trick specific individuals into jeopardizing the security of the organization they

work for. :
(A) Sneaking (B) Cyberstalking (C) Spear phishing (D) Spamming
GW.z24 T Page 170f24 o TTTTTTmmmTTTTTT
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126.

NHRC %1 90 &7 71 8

(A) e T e Aol 3

(B) ¥l I Wsgw i, ¥fean

(C) vt & Tsfearw Ffter, Efen

(D) et Eifdt wgem e, 3
What is the full form of NHRC ? O
(A) Natural Human Rights Commission, Ind@
dia
~Indig

(B) National Human Rights Commission, In
(C) National Human I‘i&momnﬁm%

(D) Nﬁ'tﬁr-ﬁﬁ-l{—m?miily Rights Commission@ﬁdia

127. ¥ 1985 F FH-A ﬁm@ua&ﬁﬁa%mm@?
(A) Fa (B) 3 () ufem (D) T=A
The year 1985 was declared as the Inlcmationg\(ear of
(A) Youth (B) Blind (C) Women (D) Children
128, e fafirat e i sfafnsi & smam o I TeT 3R A i S A SaS F F
FET A 8 | “
(A) WTHEITS (B) TRH
(C) T O (o) B
research methods allow for in-de@ and further probing and questioning of respondents based
on their responses. O
(A) Quantitative (B) Action
(C) Qualitative ® (D) Mixed .
129. 3THIEHT 3 AT-IR S TH aTet T8l A Hi_8 | |
(A) WFH (B) fw frier o5 © At SRt (D) T T
Who is the first person to run across Africa ? ¥
‘(A) Russ Cook (B) Dennis Kimetto (C) Kenenisa Bekele (D) Sisay Lemma
130. ST SRG it o oot T F A R ?
(A) (B) wewdi (C) Fom (D) et
What is the name of the longest river in Peninsular India ?
(A) Narmada (B) Mahanadi (O  (C) Krishna (D) Godavari
BL A STl AR e 3 e 3 R e T8 AETERR SN S T AT
wfteg ZRT Sfeentia foram man | |
The United Nations Commission on Human Rjghts was replaced with the United Nations Human Rights
Council for the enforcement of international haman rights law in the year 2
(A) 2001 (B) 2000 (C) 1998 (D) 2006
132, gy s e g, o 2 T g e s
Given the pattern in the provided combinatiogg)how would you express the combination represented
by (?s ? .
AZ3B, CY6D, EX9F, ?
A
_____Q_)__lVlSJ (B) GWI2H '____(_CH)H_Z*I_ZZIO (D) Kx18L
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133.

134.

135.

137.

/.

e Hiter A 3 gamn w g Pk 3w, 'ﬁzﬂﬁmaﬁﬁ%m—ﬁ%ﬁ%ﬁéﬁ%r"ﬁﬁmwmqﬁmﬁ
FEE R ?

(A) # (B) Fam © Rk () &

Pointing at a woman, Nirmala said, “She is the daug&Tr of the only son of the mother of my sister.” How
is Nirmala related to the woman ? :

(A) Mother (B) Paternal Aunt gp Cousin (D) Sister .-

e 1 Wl A 4}, e ey
(A) anrfrd (B) gfemE - @ TvH (D) WH-FuTH

Soap is related to Clean in the same way as Perfume (@}elated to :

(A) Freshness (B) Smart (C) Smell (D) Neat
STTEAT IR FT R ?

What is the next letter ?

PaQueTa O

(A) ) U B) T § P (D) R

e s & Ieft e Weiftra & v atg somdem wafia E Q)

(A) FRA (B) Sf=ta f\/
©€) Frwda @ wead (\/ J
Curtains are related to fabric in the same way as blin@are related to : ‘
(A) Covers (B) Cords

(C) Lifters (D) Slats

aﬁnﬁm@jﬂzﬁaﬁ%&%g&d g <2 grr Fr de i %8 = wHat ?

Given the ttern in the provided numbers, l@: WO

b ¥
1, 1,27, 25,125, %, 343

§”you express the m}nﬁ represented

(A) 34 (B) 22 o\
138. U =Afh 15 et qd it 7R =ef €, ﬁﬂmm%@wnﬁaw% fort e T g @ 3k Ibafte
=TT & | 8 e faig & R TR F
(A) 10HX @ 15 Wi ’ E,
(C) 18HIX 20 HieX '
A person walks 15 meters east, then turns left and walks 10 meters, then tums left again and walks
15 meters. How far is he from the starting point ? 'Y
(A) 10 meters (B) 15 meters ;
(C) 18 meters (D) 20 meters ;
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145. 140 ferenfifat 3 wefeor & g w6 60 fremef et i Ser gae w0 8, 70 R g I e w
Fd &, 71 75 Tt arrazeR i e vee w ¥ | 3a il 30 o R R STEeE A A wHE
18 1 ife Aw 31k e i I Ot T £, 42 F A I ok R A A Wt wde € adr 8 v
TR & Tl T4 & | 3 3T 1 AN H0h I BT 1 J10 HIIT ) ol AR U Terd ¢ |

In a survey of 140 students, 60 students like to EI video games, 70 students like to play indoo
and 75 students like to play outdoor games. Additignally, 30 students like to play both indé(oJrde (
games, 18'like both video games and outdoor ghmes, 42 play both video games and indoor gamdp
8 like all types of games. Use the Venn diagram @nd the students who play only outck@:\g' mes.

(A) 64 (B) 35 ®) () 32 (D) 57

146, e o o o 3 e s s & o lso%margaﬁmgaaaﬁmmmﬁm&;m
@\%-?' 872 o e
(A) Iut-ufim B) mam @) (© (D) aféor-gd
If you start facing South-West and turn 180 degrees to your righf, what direction are you facing now ?
(A) North-West (B) South-West (C) North*East (D) South-East

147. a&mwﬁqﬁqﬁaﬁtiﬁm270%;ﬁar<ﬁjmﬁﬁﬁﬁaram%qﬁmﬁﬁsm@%%?

? A) @ (B) ufm - (] efem (D) I-ufam
&
' Which direction are you facing now, if you turn 27(] degrees clockwise from facing west at the beginningﬁg c 0
(A) East (B) West Q) South (D) North-West

|
l ©
| @8' Mp>q=p?+q’ Mp<q=pl-a W(1>2)<p -

Ifp>q=p?+qandp<q=p>—q then (1 > 2%k 3 =

A) 480 - - (B) 600 g’:((:) 840 (D) 720 )
_! 149) Teafcriaa Sigsn i ardeht & Sife oy 37T 3 A1 3T et SR 7 I aiisd | 96 %@
' RK59#B2%*E?A8LSI4SVTIC6N@H 13D \

iy Forert v &, ot & e 35 e et o A AR O e 20 //@

Examine the following sequence closely and resp(on)d to the question that follows.
RK59#B2%*E?A8LSI4SVTIC6N@HIL3D
How many letters are there, each of which is 'irllmcdiate]y preceded and immediately followed by a

symbol ? - O
(A) 1/ @ ®©) 3— (D) 2—
150. Freffaad 4w e d gy ()
) ® T 5 © e (Dp, Frsin
Which of the following shapes is different from thig)yest ?
(A) Square (B) Circle (C) Sphere (D) Triangle
e 7% S 0 Y
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